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SA-FH - S2A(A) - NRAY - BES Oll &4 JNEH Blusz
o4t 32,968, 100 33,233, 100 270,000
=2 28,496,000 28,996,000 500,000
= 542, 100 312, 100 230,000
Al 3,930,000 3,930,000 0
Wees 32,968, 100 33,238, 100 270,000
= 28,496,000 28,996,000 A500,000
= 542,100 312,100 230,000
Al 3,930,000 3,930,000 0
Wi 1 2H X1 & (B 1) 32,968, 100 33,238, 100 270,000
= 28,496,000 28,996,000 500,000
< 542,100 312, 100 230,000
Al 3,930,000 3,930,000 0
SteESEs e 853 4,239,000 4,209,000 30,000
= 199,000 199,000 0
= 110,000 80,000 30,000
Al 3,930,000 3,930,000 0
701 JIEHEI S HES 4,239,000 4,209,000 30,000
= 199,000 199,000 0
= 110,000 80,000 30,000
Al 3,930,000 3,930,000 0
03 BIIYSHIHNEZHES 4,239,000 4,209,000 30,000
OMBES ZVYR 51+22 FHIAY(HER)
30,000, 0002 14! 30,000 0 30,000
= 30,000 0 30,000
N EMEGHE =R ALY 0 500,000 A500,000
2 0 500,000 /500,000
701 JIEEI HSHES 0 500,000 500,000
2 0 500,000 500,000
03 BIIYSHINNZHES 0 500,000 A500,000
OANH MEHSHE =AY 23 0@ 0 500,000 500,000
2 0 500,000 500,000
SHYXT MUOIERABAILE He 200,000 0 200,000
= 200,000 0 200,000
701 JIEEI HSHES 200,000 0 200,000
= 200,000 0 200,000
03 BIIYSHINNZHES 200,000 0 200,000
OSSN MUOHIABALES HAY
200,000,000 *14] 200,000 0 200,000
= 200,000 0 200,000




